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't it e L7 97.5 -3.0 94.7 -2.9 98.8 4.3 89.8 -9.1 83.5 89.9 91.7 92.7 94.5 94.2 90. 1 90. 1 91.3 89.3 83.6 87.1
WwoHE - PR ook B 100. 1 0.2 100.0 -0. 1 99. 4 -0.6 99. 4 -0.0 100. 4 100. 2 100. 7 100.0 97.5 98. 4 99.5 99.5 98.8 99.8 99. 4 98.3
i * $ 101.5 1.3 104. 6 3.1 109.6 4.8 109. 2 -0.4 109. 2 109. 2 109. 1 109. 1 109.3 109. 2 109.0 109. 4 109.3 109. 5 109. 1 109.5
B il oy 5 101.3 1.4 102.0 0.7 102. 4 0.4 101. 1 -1.3 102.7 102.0 101. 4 101. 4 100. 1 100. 3 100. 4 102.3 101. 1 100. 3 100. 3 101.0
¢ Bl 96.9 -1.4 98.5 1.6 100. 5 2.0 103. 1 2.6 102.6 102.6 102.8 102.9 104. 4 103. 4 104. 1 103.3 104. 2 101.7 103.0 102.6
i $ 100. 7 0.8 100. 4 -0.3 100.5 0.1 100. 6 0.1 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6 100. 6
723 oy 102. 1 2.3 103.3 1.2 103.6 0.3 102.9 -0.7 103.5 103.5 102.7 102.6 102.6 102.8 102.8 102.8 102.8 102.8 102.8 102.8
= B 102. 6 0.5 103.1 0.5 101.2 -1.8 101.1 -0.1 99.6 98. 8 98.4 100. 7 103.0 102.9 102. 8 102.3 101.9 101.7 100. 7 100. 8
% =1 102. 4 0.3 103.0 0.6 101.0 -1.9 100.9 -0. 1 99. 2 98.3 97.9 100. 4 103. 1 102.7 102.7 102. 1 101.7 101.5 100. 4 100. 4
oW oE K - MR 103.7 2.6 103.8 0.1 102.9 -0.9 103. 4 0.5 103.0 103.0 103.0 102.6 102. 4 103.9 103.9 103.9 103.9 103.9 103.8 103.8
3 R - K b=l 103. 4 5.1 102.4 -1.0 101.0 -1.4 102.3 1.3 101.7 101.7 101.7 102. 4 102.5 102.5 102. 6 102. 6 102. 6 102.0 102. 4 102. 5
EOR Hoox 100. 5 4.1 98.5 -2.0 97.3 -1.2 98. 4 1.1 97.9 97.9 97.9 98.8 98.8 98.8 99.0 99.0 99.0 97.8 97.8 97.8
E = £ 97.0 2.9 93.6 -3.5 92.4 -1.3 92.5 0.1 92.9 92.9 92.9 93.2 93.2 93.2 93.5 93.5 93.5 90. 3 90. 3 90. 3
B A £ 107. 1 6.4 107.6 0.5 106. 4 -1.1 109.3 2.7 107.2 107.2 107.2 109.0 109.0 109.0 109.0 109.0 109.0 111.8 111.8 111.9
i %) A B 111.1 9.4 103.3 -7.0 95. 4 -7.6 100. 6 5.5 98. 4 98. 4 98. 4 99. 1 99. 6 99. 6 99. 6 99. 6 99.7 101. 1 106. 7 107.3
o F ok E B 109.7 6.2 114.5 4.4 115. 4 0.8 115.9 0.4 115. 4 115. 4 115. 4 116. 1 116. 1 116. 1 116. 1 116. 1 116. 1 116. 1 116. 1 116. 1
T BE - R 2 B & 97.0 -0.4 95.0 -2.1 92.4 -2.7 89.1 -3.6 90.9 90.3 89.1 89.4 89.2 89.1 88.9 88.5 88.0 88.5 88.8 88.5
% @ M om & B 94. 1 -1.4 87.0 -17.5 81.5 -6.3 73.9 -9.3 77.8 76. 6 74.1 75.2 74.5 74.1 73.5 72.5 71.2 72.7 72.6 71.8
fh o F H - FF A 98.4 0.0 99.0 0.6 97.9 -1.1 96. 7 -1.2 97.4 97. 1 96.5 96. 4 96.5 96.5 96.5 96.5 96. 4 96. 4 96. 8 96. 8
= N O & 99. 2 -0.4 98. 1 -1.1 91.3 -6.9 87.2 -4.5 88.9 86.8 86. 8 86.8 86. 8 86.8 86.8 86.8 86.8 86.3 88. 1 88.1
=S H $H 93.7 0.1 94.8 1.2 93.2 -1.7 91.2 -2.1 93.2 92.7 88.8 89.6 91.0 91.0 91.0 91.0 90.9 91.2 91.2 92.3
% = e 15 101.3 1.6 102. 1 0.8 102.2 0.1 102.3 0.1 102. 1 102. 4 102.2 102. 1 102.0 102. 1 102.2 102.3 102.3 102. 4 102.6 102.5
F = H W £ & 94.6 -2.2 90.5 -4.3 89.8 -0.8 88.9 -1.0 89.5 89.8 89.7 89.2 89. 1 89.0 88.6 88.6 88. 1 88.2 88.4 88.2
% F ¥ — v = 102.7 1.5 114.7 11.7 118.9 3.7 119.0 0.1 119.0 119.0 119.0 119.0 119.0 119.0 119.0 119.0 119.0 119.0 119.0 119.0
# BB 2 U E B9 100. 7 0.9 102. 2 1.5 102. 4 0.2 102. 4 0.0 96. 7 96. 4 99.5 104.1 104. 8 105.0 101.2 99. 3 104. 6 105.5 106. 2 105.7
K Bl 100. 5 1.0 103.3 2.8 103.1 -0.2 102.6 -0.5 93.5 93.7 98.5 104. 1 105.5 106.0 101.2 99.1 104.9 108.0 108.9 108.3
fn AR 111.1 10.8 118.9 7.0 114.3 -3.9 112.4 -1.7 112.4 112.4 112.4 112.4 112.4 112.4 112.4 112.4 112.4 112.4 112.4 112.4
e R 99.5 0.1 101.8 2.3 102.0 0.2 101.7 -0.3 91.8 91.9 97.1 103. 4 104.9 105.3 100. 2 97.9 104. 1 107.5 108.5 107.9
XY e kb—HF— . FTH 100. 8 0.2 100. 3 -0.5 101.0 0.7 101.0 0.0 96. 8 95. 1 96. 8 103.8 103.9 103.9 99.0 96.5 105. 1 104. 2 104. 1 103.3
Yy ek —F —¥F 100. 7 -0.4 100. 1 -0.6 100. 8 0.7 100. 4 -0.4 95.3 92.8 94.3 104.0 104. 2 104. 6 97.6 94. 1 105.5 104. 4 104. 6 103. 4
T 5 $ 101.0 1.4 100. 7 -0.3 101.6 0.9 102.8 1.2 100. 8 100. 7 103.0 103.3 103. 4 102.3 102.3 102. 4 104.3 104.3 103.2 103.2
& L7 $ 99.9 0.9 100. 7 0.8 101. 4 0.7 101.2 -0.2 101.9 100.9 103. 4 103.3 103.3 102.2 100. 3 98.6 100. 4 100. 4 100. 1 100. 1
o - fth o kAR 3 101.9 2.4 103.5 1.6 103.6 0.1 105.0 1.4 103. 1 104. 4 104.7 105. 2 105.3 105. 7 105.5 105. 4 105.7 103.7 105. 6 105. 6
Ao - %k M 106.0 3.8 105. 8 -0.2 98.0 -7.4 99. 2 1.2 97.9 97.9 99.5 99.5 99. 6 99.5 99.5 99.5 99.5 99.5 99.5 99.5
i %) W Jil5S 101.8 3.4 104. 6 2.8 106. 4 1.7 106.5 0.1 105.5 105. 6 105.0 107. 1 107. 1 107. 1 106. 6 106. 4 107.1 106. 8 106. 8 106. 8
W AR BE o Y — B2 101. 2 1.2 102.0 0.8 102.0 0.0 104.5 2.5 102.0 104. 4 105.3 104. 1 104. 4 105.3 105.3 105.3 105.3 101.6 105.3 105.3
® i E b3 104.7 3.7 111.4 6.4 110.3 -1.0 109. 4 -0.8 109.3 109.3 109. 2 109.5 109.5 109. 6 109.5 109. 1 109.3 109.5 109.3 109. 4
= 3K L 102.3 1.0 102.3 0.0 101.8 -0.5 101. 4 -0.4 101. 1 101. 1 101. 1 101.0 101.0 101.7 101.7 101.8 101.8 101.6 101.6 101.6
REEEREH S - & E 96. 6 -2.7 94. 1 -2.6 92.7 -1.5 90.6 -2.3 91.8 91.7 91.7 91.5 90.9 91.0 90.6 88.6 89. 4 90. 2 89.5 90. 2
REEEREYS — R 110.5 8.9 126. 4 14. 4 125.3 -0.9 124.5 -0.6 123.8 123.8 123.8 124.6 124.7 124.8 124.8 124.8 124.8 124.8 124.8 124.8
3z b . b = 97.0 -0.3 95.9 -1.1 95.8 -0.1 96. 4 0.6 96. 3 96. 2 96. 4 96.0 96. 1 96.0 96.5 96. 8 96. 4 96. 4 96.5 96. 6
73 W 103.2 1.9 104. 6 1.4 104.7 0.1 105.0 0.3 105. 1 104.7 105. 2 104. 8 104. 8 104. 6 105. 2 106. 4 104.7 104. 8 104.7 105. 2
H OBy S R R OB 94. 1 -1.1 92.4 -1.8 92.3 -0. 1 93.8 1.6 93.1 93.0 93.2 93.3 93. 4 93.5 94. 0 94.1 94. 0 94.5 94.7 94.7
& g 98.5 -0.8 96. 4 -2.1 95.9 -0.5 93.2 -2.8 95. 6 95. 6 95. 6 93.1 93.1 92.9 92.9 92.9 92.9 91.2 91.2 91.2
£ = 104. 8 2.6 105.5 0.7 106. 0 0.5 106. 5 0.5 106. 1 106. 1 106. 1 106. 6 106. 6 106. 6 106. 6 106. 6 106. 6 106. 6 106. 6 106. 6
% E S Bl e 105.0 2.3 106. 6 1.5 107.5 0.8 108.2 0.7 107.7 107.7 107.7 108.3 108.3 108.3 108.3 108.3 108.3 108.3 108.3 108.3
BB E . pEESE 102.9 2.0 104. 8 1.8 105. 4 0.6 105. 8 0.4 105.5 105.5 105.5 105.9 105.9 105.9 105.9 105.9 105.9 105.9 105.9 105.9
1 = # 5 104. 2 3.6 101.2 -2.9 100.0 -1.2 100.0 0.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
# = % E:- 98.9 0.9 99.1 0.2 97.9 -1.2 96. 6 -1.3 95.9 96. 1 96. 3 96.5 97.6 96.5 96. 6 97.2 96.9 96. 7 96. 8 95.8
ok RO m A 82.6 -4.3 77.9 -5.7 75.5 -3.1 71.6 -5.2 75. 1 74.3 72.8 73.3 72.0 72.2 71.1 70. 4 70.2 69.5 69.5 68.9
fth o H o F# OB OB 100. 7 1.4 101.3 0.6 100. 2 -1.1 99. 1 -1.1 98. 1 98.3 98.7 99.0 100. 3 99.0 99. 2 99.8 99. 6 99.5 99.5 98.5
oHF oMo M & 96.5 -0.4 97.9 1.5 95.6 -2.3 94. 1 -1.6 93.4 94.5 95.9 92.4 93.8 92.6 93.2 95.1 94. 7 93.7 94. 1 95.8
= . oo R Y 102.7 1.9 103.8 1.1 104. 2 0.4 104.5 0.3 104. 4 104. 6 104. 4 104. 4 104. 4 104. 4 104. 4 104. 6 104. 6 104.5 104.7 104. 6
BB EY — R 102.0 2.1 102.2 0.2 101.2 -1.0 99.9 -1.3 98. 4 98. 4 98. 4 100. 4 102.1 100. 3 100. 4 100. 7 100. 4 100. 6 100. 6 98.0
E 4 B 101.9 1.3 102. 8 0.9 104.3 1.5 104.9 0.6 104.5 104. 2 104.8 105. 1 105. 2 105. 2 104. 6 104.7 104.7 105. 1 105.3 105. 2
BMER Y — b 2 105.0 2.3 106.5 1.4 107.2 0.7 108. 1 0.8 108. 1 108. 1 108. 1 108. 1 108. 1 108. 1 108. 1 108. 1 108. 1 108. 1 108.3 108.3
MOoOE O OK O OH W 98.6 -0.4 98.6 0.0 98. 4 -0.2 98.0 -0.4 98.5 97.4 97.9 98.2 98.5 98.3 97.2 97.7 97.0 98.2 98.7 98.5
o | v H & 101.5 1.5 102. 4 0.9 103. 4 1.0 105. 1 1.6 102. 4 102. 4 105. 2 106. 1 106. 1 106. 1 104.5 104.5 106.0 106. 0 106. 0 105. 4
7= [ z 101.7 1.7 102.7 1.0 110.0 7.1 110.0 0.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0 110.0
% D i 106. 7 0.1 109. 8 2.9 110.8 0.9 110.8 0.0 110.8 110.8 110.8 110.8 110.8 110.8 110.8 110.8 110.8 110.8 110.8 110.8
3 i3 ® fh 101.7 1.5 107.1 5.3 101.6 -5.1 95.2 -6.3 95.9 95.1 97.1 96. 8 92.7 92.2 93.6 97.3 98. 2 94.2 92.8 96.0
ERERTKBRELES 100.9 1.2 101.4 0.5 101.0 -0.4 100. 7 -0.3 100.0 99.8 100.0 100. 8 101.4 101.2 101.0 100.9 101.0 100.9 100.9 100. 8
REORBRERVERRRERR 100. 6 1.5 101.0 0.4 100. 8 0.2 100. 5 0.3 100.0 99.9 100. 2 100. 7 100.9 100. 8 100. 5 100. 5 100. 7 100. 7 100.9 100. 7

TR A IIGREEER T4 27 5 H W il F5 %0



148 ¥ @ W @ 149

856 & R m n &8 » 8 ¥ E & B & ¥ ¥ @ %

(BAT : ) (WAT : )
0 ni ifi & H ni o ifi ¥

[ ; 2 ] # i B R TR T 0 & an H o i BN SRRl TR T 2 A

(& =) » WA D (155gA0) . [Hrveff) 148 174 174 172
2 B b CK|EWNPE, KK, B—af, e U EER< 10 kg 4,601 4,678 4,465 F =z 2 L — MEFazal—|, 50g 100 g a)184 186 192
oy s o |5 1 kg 425 427 25| (A B & @)

H A N UBTEBAAD, B EE G 100 g 85 84 84| WEAH o v v [JREE Ao g v BT NEA T, Ry =T A 100 g 127 127 124
@ T H E A 1 kg 283 293 293| ( &k )
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EF5NAED 1 kg 1,074 870 819| (‘iR - #
<& W ILHEERRL 1 kg 230 189 139 K T F B R|FREATRMNR, FH1AD 1 A 22,580 22,580 22,580
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k ~ k 1 kg 727 679 609 (fth @ 3t &)

| N 100 g 93 67 65| 4T MWETIh, FoExiiy, Bl 18 2 955 862 915
Lo = 100 g 185 176 173 (K B #)
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